This Question Paper consists of 36 questions including 5 figures and 12 printed pages + Graph sheet.
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Candidate must write his/her Roll Number on the first page of the Question Paper.

Please check the Question Paper to verify that the total pages and total number of questions
contained in the Question Paper are the same as those printed on the top of the first page.
Also check to see that the questions are in sequential order.

For the objective type of questions, you have to choose any one of the four alternatives given
in the question i.e. (A), (B), (C) or (D) and indicate your correct answer in the Answer-Book
given to you.

All the questions including objective type questions are to be answered within the allotted
time and no separate time limit is fixed for answering objective type questions.

Making any identification mark in the Answer-Book or writing Roll Number anywhere other
than the specified places will lead to disqualification of the candidate.

Write your Question Paper code No. 51 /AS/3-A on the Answer-Book.

(a) The Question Paper is in English/Hindi medium only. However, if you wish, you can
answer in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi,
Oriya, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided
in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the question will be yours only.
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Note : (1) Question Numbers (1-10) are Multiple Choice Questions. Each question carries
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one mark. For each question, four alternative choices A, B, C and D are provided,
of which only one is correct. You have to select the correct alternative and indicate
it in the answer-book provided to you by writing (A), (B), (C) or (D) as the case
may be. Q. No. 11 to 15 also carry one mark each.

Question Numbers (16-25) carry 2 marks each.
Question Numbers (26-33) carry 4 marks each.
Question Numbers (34-36) carry 6 marks each.

All questions are compulsory.

¥ @A (1-10) T Fgfashed! 999 (Multiple Choice Questions) & | & %7 Teh
% 1 2| IO T H =R faswed A, B, C 71 D fed M3, 96 @ Fea wF W 2
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1.  60% of the students in a school are girls. If the number of boys in the school is 320, the 1
total number of students in the school is :

et fammera # 60% fomneft aefwal €1 afe faamem § el &t @& 320 @, df fommem &
Fa foenfoiat ot g et
(A) 400 (B) 450 (©) 600 (D) 800

2. An article is sold for ¥ 2,000 cash or for ¥ 600 as cash down payment followed by 1
I 1680 after one year. The rate of interest charged under instalment plan is :

TRt a%g &I T 2,000 % TS PTAH T AT T 600 F A qAH a1 3Tk Th I8 q9aT
1680 % AN T =1 91T ¢ | fohd FISH1 & ST=ald ST ST aTet =471 i SR ¢

(A) 16% (B) 20% (C) 28% (D) 40%
3.  In the figure, given here, ZACD + ZCBF + ZBAE is equal to : 1
T €t T SMmepd § ZACD + ZCBF + ZBAE sRIeR & :
E
A
B -
fF C D
(A) 180° (B) 360° (C) 450° (D) 540°
4.  The length of the arc of a sector of a circle of radius r and central angle 6 is equal to : 1
521 ¢ Ao F=g o ¢ ST foReht 99 % U B We % 919 F s al ®
™ [ b [
@ T+ o ® 2 H+
C o D Tr 0
5.  sin? 60°+ cos? 45° is equal to : 1
sin? 60° + cos? 45° T T :
V3 + 42 5
() ®
C 3 D 1
© 3 O 5
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6. 9.09 in the form £ is equal to :
q

909, P ¥ ¥ e ¥
q

o 1 101 100 5 10
O ®) © ™
7. If a=5+26, then a — 1 is equal to : 1
a
1
(e a=5+2./6 &, A a— — SR BT
a
(A) 4V (B) —4V6 (© 10 (D) -10
8. A triangle ABC is necessarily congruent to another triangle POR if : 1

18 IS ABC & 274 f34< PQR & 31avadd gaima™ Bt afg
(A) ZA=sP, /B=,/Q, /C=/R (B) <A=/P, /B=,/Q, AB=QR

(C©) AB=PQ, BC=QR, ZC=2Q (D) «ZB=1Q, ZC=ZR, BC=QR

9. In the plane of a triangle, the point equidistant from the vertices of the triangle is its : 1

(A) centroid (B) incentre (C) circumcentre (D) orthocentre
PR F I A Ty F il fogsli S oM W R e fog su @ w1 a2

(A) F=H (B) T:%= (C) Ui (D) o= &=
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10. Which of the following is not true ? 1
(A) A trapezium is also a parallelogram.
(B) A rhombus is also a parallelogram.
(C) A rectangle is also a parallelogram.

(D) A square is also a parallelogram.
frefafad & @ %7 o %o g T 7?2

(A) T oA Th AR AgS off & e
(B) T TH=gHS T AR =g off gran 7
(C) T 3TId T TR =g off 2ar ¢ |
(D) T o Toh = ags i 2 2 |

11. In the figure, given here, O is the centre of the circle and OPLAB. If AB=8 cm and 1
OP =3 cm, find the diameter of the circle.

78T € TRl ST H O 97 1 % & 991 OPLAB R | afg AB=8 4.7, a1 OP=3 4.1, &, @
I 61 AT 1A RIS |

AP B

12. Find the volume of a right circular cone whose area of the base is 36w cm? and slant 1
height is 10 cm.

39 T g g 1 ST [ DI S STHR A1 &% 36w §.H2, T 7o et fads
9 10 9.1, R

13. In a AABC, Z/B=90°, AB=5 cm and BC=7 cm. Find the value of tan A —cot C. 1

fordt s ABC H, ZB=90°, AB=5 ®. 7. T2 BC=7 V. 7. | tan A —cot C T M A
FHiferg |
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15.

16.

17.

18.

19.
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A bag contains 15 red balls and some white balls. If the probability of drawing a white

1
ball from the bag is o find the number of white balls in the bag.

et It § 15 et 9o F Wik 1S ¥ 1 AfE It § ¥ UF Tihe Tig el ST St wiferkn %‘@r,
a9 o wihe e w1 & 1 hife |

The mean of 8 observations was found to be 30. Later it was detected that one observation
64 was mistakenly read as 24. Find the correct mean.

8 H&TUTl 1 LA 30 THehTel T | &€ H Ul =l foh Uah W&l 64 =i Terd ¥ 24 ¢ foran 7= o |
TE T1eT 1 Hifeg |

Evaluate the polynomial 2x3—3x?—8x+12 for x= —2 and state whether this value of
x is a zero of the given polynomial or not.

x=—2 % fIT 9g9< 2x3 —3x2—8x+12 1 HM FMd HITSC T FARY Tk x 1 I8 A {53 7T
TGS 1 T J[EF ¢ ST 7L |

Find the distance between the points (=6, —1) and (—6, 11).

forgati (—6, —1) @91 (-6, 11) & == =1 g @ HIfSC

Find the coordinates of the point which divides the line-segment joining the points
(=1, 4) and (0, —3) in the ratio 1 : 4 internally.

34 fog & fdens 9 ifere st fageli (— 1, 4) T2 (0, —3) ! e aTet XE-we &1 1: 4
& 3k oTqurd o favaa +Lar 2|

An integer is chosen between 0 and 20. Find the probability that the chosen integer is
a prime number.

0 T 20 o ST T Uik T =44 fovdl ST €1 T qUlieh 1 Tk AVST §& B &
qTfrehal I hiTeTd |

|
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The perimeter of a rectangular plot of land is 32 m. If the length is increased by 2 m
and the breadth decreased by 1 m, the area of the plot remains the same. Find the
length and breadth of the plot.

et STIaTERR ' 1 ofETg 32 W 1 Afe oreme H 2 W i gfg qen ek § 1wt S
T ST, @ Y@ H FTFA Tel F TAM B @Al § | @ I AW A ST A1 HiToC |

At what rate of interest per annum will simple interest be half of the principal in
5 years ?

=TS &1 fh aftier S| 5 a8 H TR A GAYA % Y o e 20 2

Show that a cyclic parallelogram is a rectangle.

feamsu & T 9% g Tu=R Iqds T oT9d e B |

In the figure, given here, O is the centre of the circle and PQ and PR are the
tangent - segments of the circle. Find ZRPO.

el <t Tt 3Thfa H O 9 1 g © 991 PQ 91 PR 91 & TI¥1-X@MEE § | ~RPO i WY I
FHITT |

R
O P
50° 1
Q
. . . 2 g 22
The volume of a solid hemisphere is 7185 cm”. Find its total surface area. [use ™ = 7]

et 39 Tg-Td w1 ST 718% M3 T THH TN T SFRA MG RIS |

[w=%aﬁm}

o}
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25. Standing on the top of a tower, 100 m high, Swati observes two cars parked on the 2
opposite sides of the tower. If their angles of depression are 45° and 30°, find the
distance between the cars.

e 100 Ht St HHR % R W @t 2ia Tfa HiR i faudia fesmed & el &1 w=h & #Ri
1 STTAHT HIAT ¢ | A IR STATAT I 45° TN 30° €, A FHR % o FT T TG HIC

26. At what rate percent per annum will a sum of < 15,625 become X 17,576 in 3 years on 4
compound interest when the interest is compounded annually ?

Ife =ATe a1fieh €9 § HateTd &1, @ T 15,625 1 ¥ fohd anfier < Uiav § Tohgfg ATl
R 3a¥ ¥ T 17,576 Bt ?

27. In the figure, given here, AD is the bisector of ZBAC. If AB=9 cm, AC=12 cm and 4
BC=7 cm, find the measures of BD and DC.

Iel <t T TRfA H, AD FI LBAC HT FHEGINE ¢ 1 Al AB=9 W.H., AC=12 3.4}, qer
BC=7¥.9%. &, @ BD @& DC ! U9 F1d Hifaq |

/ i \
/ 9 12\
B D C
< 7 >
28. Find the mean of the following data by step-deviation method : 4
Classes : 10 - 20 20 - 30 30 - 40 40 - 50 50 - 60 60 - 70
Frequencies : 2 3 5 7 5 3
e o fafu @ frefafea srwel &1 @ I Fife -
Ell : 10 - 20 20 - 30 30 - 40 40 - 50 50 - 60 60 - 70
FRARATY : 2 3 5 7 5 3
29. Find the values of m for which the equation 3x2+ 6x + m=0 has two distinct real roots. 4

m & 37 Al ! Fd B T T Tt 352+ 6x +m=0 % &1 fi=1 arafaes ga g
&l

IRV ATERWAW ¢ conta...

O

51/AS/3-211-A |



30. Find the circumradius of equilateral triangle of side 6 cm. 4

6 9.1, T dTet FHag A4S &t aRfssa I ST

31. Simplify : 4
(5x +3y)3 +3(5x + 3y)2(5x — 3y) + 3(5x + 3y) (5x — 3y)2 + (5x — 3y)3
T HIWT

(5x +3y)3 + 3(5x + 3y)2(5x — 3y) + 3(5x + 3y) (5x — 3y)2 + (5x — 3y)3

32. Construct a right triangle ABC, right - angled at B in which BC=3 cm and AC=6cm. 4
T T8 §H&U A4S ABC &l W1 HifSC 91 HI0 B 9910, 51 BC=3 9.H.
AC=644. 21

OR( 31dT)
For visually impaired learners only
(haa gfte faswmaen faenfefai & faq)
Write the steps of construction of a tangent to a circle at a given point on it using the
centre of the circle.

T o % 1 STANT leh, 0 R FEd T fag T I =1 Tt @1 Hi A1 & =101 fafan |

33. A survey of 200 students of a school was done to find which activity they prefer to do 4
in their free time and the information, thus collected is recorded in the following

table :

Preferred Activity Number of Students
Playing 60

Reading story books 45
Watching TV 40
Listening to music 25

Painting 30

Draw a bar graph for this data.
Tt fammera & 200 fa=nfofal W us gdemn 78 S & e foan 0 f6 9 o9 @t 993 o

I HAT THS I &, T I G 1 A <A WReit & w9 H RS fman mn
T uHe foRar e farentei=i =t e

el 60
hEMI hl T&ISh T 45
CICIACECE] 40
it g 25
g 30
3 kel & T Tk TeTorg i T HIfT |
OR( 3194T)
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34.

For visually impaired learners only

(hae gfte faerain faenfefai o fog)

The following table gives the distribution of employees of different income groups residing

in a locality.

Monthly income (in ¥)

20,000 - 25,000
25,000 - 30,000
30,000 - 35,000
35,000 - 40,000
40,000 - 45,000
45,000 - 50,000

35
75
150
155
70
15

Number of employees

Form a cumulative frequency table for the data and answer the following questions :

(a) How many employees earn less than or equal to I 30,000 per month ?

(b) How many employees earn more than I 30,000 per months ?

<t Tt IRelt t aEd ¥ @R 9Tt fafu= ema gl % wHiEl # s yefiia st

T 3 (T H)

20,000 - 25,000
25,000 - 30,000
30,000 - 35,000
35,000 - 40,000
40,000 - 45,000
45,000 - 50,000

35
75
150
155
70
15

U sl HE

3 Al & U Tk Goht SHaRdr R a1sT qen fefafeaa gei & Sw e
(a) foaa wH=fEl st Hifge 3 T 30,000 ¥ T STaT IR ¢ 2
(b) T we=fEl it wfEw 1 30,000 ¥ 31fe 7?2

If pth, qth and rth terms of an A.P. are x, y, z respectively. Prove that 6

x(q—r)+y(r—p)+z(p—q) =0.

aﬁWa.é@ﬁ,fawﬁmm: x, vy, 28 @ fag wifse =

x(q—r1)+y(r—p)+z(p—q)=0.

51/AS/3-211-A |
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35. In the figure, given here, OAQB is a quadrant of a circle with centre O and radius 7 cm 6
and APB is a semi circle. Find the area of the shaded region.

TEl & el aeta H OAQB, O %wg a7 .41, T35 et o< %1 =gty 59 @S € 991 APB
T TS ¢ | DR AN T SAB A HITT |

36. If sec 6 +tan 6 =p, show that : 6
2
-1
sin = 2
p-+1

IS sec 0+ tan szﬁl, @ feamsT o

p>-1
p2+1

sin 6 =

-00o0-
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